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() | (3+43)(2++2) =3(2++2)+3(2+2)=6+32 +23+6

(i) | (3++/3)(3-43) =32-(43)?=9-3=6 { " (a+b)(a-b)= a®>-b*}

(iii) | (V5++2)? = (V5)2+(V2)2 425 *\2 =5+2+2410 =7 +2410  { " (a+b)? =a’+b?+2ab }
(V) | (5-v2)(¥B++2) | = (¥5)*(4/2)>=5-2=3 { " (a+b)(a-b)= a’-b}
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DGR 1 B,Pertedst BEbeohBos .=0|32+ BD?=(0C-BC)*+ BD2=-+ BD?

2 2 _ x+1)? _ x+1)° x—12_ . _
:>BD—OD = —T = —T 'T —X..BD—\/;




1.5.5. 8 3YNSJYrY JedaIY ©50e3es80.

Q0.

]
33,

0930€3eB9033 ?7?

B0B0 (09038 DR IR, WBTe3e508HT redd)

(i)

J7 S 933e3em088 /7

i)

J7 -/6 3 980e3e5088 /7 +/6

ae) )

(IJJ ( 7+fj o

V5 + /2 S 98335988 /5 -4/2

) ] 55

J7 -28 980e3e5088 /7 +2

;+2) [I zj

a5






